
4th Grade Math Homework Week 4 

Name         
 

Labor Day Tuesday: Wednesday: Thursday: 

Use these spaces if you 

need to work out problems 

Estimate the answer first, 

then solve below 

___________ 

 

What is the estimated sum 

of 43,294 and 29,834? 

Estimate the answer first, 

then solve below 

___________ 

 

What is the estimated 

difference of 57,403 and 

23,622 

About 300,000 people went 

to the fair.  Which could 

be the exact number 

rounded to 300,000? 

a. 248,549 

b. 284,952 

c. 356,217 

 

 Round the number to the 

underlined place 

149,733 
 

Solve   

43,294 

      +29,834 

Solve.  

       57,403 

      -23,403 

 

 Which number is 74,805 

rounded to the nearest 

thousand? 
 

a. 74,800 

b. 74,000 

c. 75,000 

d. 75,800 

Round the number to the 

nearest thousand 

672,485 
 

Mr. Klem traveled 35,395 

miles on an airplane last year 

and 29,843 miles this year.  

How many total miles has he 

traveled?  

 

 The coastline of the United 

States is 12,383 miles long.  

Canada’s coastline is 113,211 

miles longer than the coastline 

of the United States.  How 

long is the Coastline of 

Canada? 

Solve 

       53,605 

       - 6,431  
 

In 2007, Pennsylvania had 

approximately 121,580 miles 

of public roads. What is 

121,580 rounded to the 

nearest thousand? 

 

 

 Mrs. Pulley saved $50,684 

from the runraiser.  She 

spent $32,912 on chrome 

books and $456 on playground 

equipment.  How much money 

does she have left? 

 

Use the box next door 

                 to solve! 

One weekend, 125,429 came 

to watch a baseball game. The 

next weekend 86,353 people 

came to the game.  How many 

people in all watched the 

games? 

 

 

 

There were 1,538 cows on the 

farm in August. Three 

hundred cows were sold to 

another farm and 254 new 

babies were born.  How many 

cows do they have now? 
 

 


